File 34 - Inpatient Consolidation Data Number of Days By Provider and Accommodation Code

Provider Number and Provider Name For Services Provided in Fiscal Year 2021-22

Rates as of July 2023

Rates for Fiscal Year 2023-24

PROVIDER #	PROVIDER NAME	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$
						101			101				
BAY AREA		201	114			124	00.004.000	•	134		<u> </u>	204	
1922378215	AURORA BEHAVIORAL HEALTHCARE	\$0		\$0	\$1,498	6069	\$9,091,362	\$0		\$0	\$0	-	\$0
1245346741	BHC FREMONT HOSP	\$1,633		\$0	\$1,633	8419	\$13,748,227	\$1,633		\$0	\$1,633		\$0
1104984392	CALIFORNIA PACIFIC MED	\$735	274	\$201,390	\$1,486	1300	\$1,931,800	\$844		\$0	\$1,575		\$0
1679562169	COMMUNITY HOSP MONTEREY	\$1,178		\$0	\$1,178	1570	\$1,849,460	\$1,178		\$0	\$1,178	-	\$0
1851458434	EL CAMINO HOSP	\$1,351		\$0	\$1,351	1081	\$1,460,431	\$1,351		\$0	\$1,351		\$0
1720032790	GOOD SAMARITAN HOSP, LP	\$1,636		\$0	\$1,636	1169	\$1,912,484	\$1,636		\$0	\$1,636		\$0
1215962782	JOHN MUIR BEHAVIORAL	\$0		\$0	\$1,831	3296	\$6,034,976	\$0		\$0	\$1,831	921	\$1,686,351
1942267869	MARIN GENERAL HOSP	\$1,514		\$0	\$1,514	2552	\$3,863,192			\$0	\$0		\$0
1780708362	ST FRANCIS MEM HOSP	\$735	2643	\$1,942,605	\$1,485	1324	\$1,966,140	\$913		\$0	\$1,575		\$0
1720078082	ST HELENA HOSP	\$1,452		\$0	\$1,452	4639	\$6,735,828	\$1,452		\$0	\$1,452		\$0
1265581086	STANFORD HOSPITAL	\$735	45	\$33,075	\$1,485	1755	\$2,606,175			\$0	\$1,575		\$0
1780926964	Santa Cruz Co. PHF	\$2,105		\$0	\$2,105	976	\$2,054,480	\$0		\$0	\$0	-	\$0
1043670342	Mills Health Care	\$1,471		\$0	\$1,471	3482	\$5,122,370	\$1,471	-	\$0	\$1,471	-	\$0
1447604814	Sutter Bay dba Alta Bates	\$1,751		\$0	\$1,751	3783	\$6,623,995	\$1,751	-	\$0	\$1,751	-	\$0
1851381990	ST HELENA HOSPITAL	\$0		\$0	\$1,370	3971	\$5,440,270	\$0		\$0	\$0	-	\$0
1508252149	SJBH, LLC	\$1,751		\$0	\$1,751	2834	\$4,962,306			\$0	\$1,751		\$0
TOTAL		\$735	2962	\$2,177,070	\$1,564	48,220	\$75,403,496	\$911	-	\$0	\$1,831	921	\$1,686,351
LOS ANGELE	S COUNTY		114			124			134			204	
1487939724	AHMC SAN GABRIEL VALLEY	\$894	2	\$1,788	\$888	376	\$333,888	\$800	0	\$0	\$795	0	\$0
1922001809	Los Angeles Community at Bellflower	\$894	137	\$122,478	\$888	633	\$562,104	\$800	5208	\$4,166,400	\$795		\$0
1366419517	ANTELOPE VALLEY HEALTHCARE	\$895		\$0	\$895	947	\$847,565	\$895		\$0	\$895		\$0
1619934114	AURORA CHARTER OAK	\$895		\$0	\$895	5987	\$5,358,365	\$895		\$0	\$895		\$0
1700843216	AURORA LAS ENCINAS LLC	\$895		\$0	\$895	203	\$181,685	\$895		\$0	\$895		\$0
1194758623	BHC ALHAMBRA HOSP	\$895		\$0	\$895	7238	\$6,478,010	\$895		\$0	\$895		\$0
1215373626	College Medical Center	\$1,025		\$0	\$1,025	34589	\$35,453,725	\$1,025		\$0	\$1,025		\$0
1215063151	Emanate Health	\$895		\$0	\$895	3513	\$3,144,135			\$0	\$895		\$0
1225016595	COLLEGE HOSPITAL CERRITOS	\$895		\$0	\$895		\$0	\$895		\$2,650,095	\$895	1829	\$1,636,955
1245203447	DEL AMO HOSPITAL INC	\$895	16490	\$14,758,550	\$895	84	\$75,180	\$895		\$13,425	\$895		\$0
1649307489	Glendora Oaks Hospital	\$894	0	\$0	\$888	0	\$0	\$800		\$0	\$795	0	\$0
1417089350	Northridge Medical Center	\$895		\$0	\$895	223	\$199,585			\$0	\$895	321	\$287,295

File 34 - Inpatient Consolidation Data Number of Days By Provider and Accommodation Code **Provider Number and Provider Name**

For Services Provided in Fiscal Year 2021-22

Rates as of July 2023 Rates for Fiscal Year 2023-24

PROVIDER #	PROVIDER NAME	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$
1477610640	Glendale Memorial Hospital	\$895		\$0	\$895	4954	\$4,433,830	\$895		\$0	\$895		\$0
1336138403	Adventist Health Glendale	\$1,025	2171	\$2,225,275	\$1,025	2354	\$2,412,850	\$1,025		\$0	\$1,025		\$0
1023140464	HENRY MAYO NEWHALL	\$894	1	\$894	\$888	2044	\$1,815,072	\$800		\$0	\$795		\$0
1437121142	HUNTINGTON MEMORIAL HOSP	\$895		\$0	\$895	337	\$301,615	\$895		\$0	\$895	2795	\$2,501,525
1063567956	KAISER FDN HOSP MENTAL	\$894		\$0	\$888	3	\$2,664	\$800		\$0	\$795		\$0
1013061597	MISSION COMM HOSP	\$1,025	497	\$509,425	\$1,025	10336	\$10,594,400	\$1,025		\$0	\$1,025		\$0
1548328750	PACIFICA OF THE VALLEY	\$895		\$0	\$895	9926	\$8,883,770	\$895		\$0	\$1,080	1078	\$1,164,240
1629242201	Encino Hospital Medical Center	\$895		\$0	\$895	32	\$28,640	\$895		\$0	\$0		\$0
1750491247	Sherman Oaks Hospital	\$895	0	\$0	\$895	0	\$0	\$895	0	\$0	\$895	0	\$0
1942247291	PROVIDENCE LITTLE CO. OF MARY	\$895		\$0	\$895	3745	\$3,351,775	\$895		\$0	\$895		\$0
1023010113	SOUTHERN CALIFORNIA at Culver City	\$895	27	\$24,165	\$895	23713	\$21,223,135	\$895	3601	\$3,222,895	\$895		\$0
1487697215	ST FRANCIS MEDICAL CTR	\$0	0	\$0	\$0	0	\$0	\$0	0	\$0	\$0	0	\$0
1952308363	Resnick Neurpsychiatric	\$895	1473	\$1,318,335	\$895	786	\$703,470	\$895		\$0	\$895	399	\$357,105
1780183335	LA DOWNTOWN MEDICAL CENTER	\$1,025	637	\$652,925	\$1,025	15586	\$15,975,650	\$1,025		\$0	\$1,025		\$0
1215927470	Adventist Health White Memorial Medical												
	Center	\$895	6	\$5,370	\$895	6091	\$5,451,445	\$895		\$0	\$895		\$0
TOTAL		\$915	21441	\$19,619,205	\$956	133,700	\$127,812,558	\$853	11,785	\$10,052,815	\$926	6,422	\$5,947,120
CENTRAL VAL	LEY		114			124			134			204	
1083709653	BHC HERITAGE OAKS HOSP	\$1,126		\$0	\$1,126	4196	\$4,724,696	\$1,126		\$0	\$0		\$0
1528066685	BHC SIERRA VISTA HOSP	\$1,126		\$0	\$1,126	6456	\$7,269,456	\$1,126		\$0	\$0		\$0
1104906569	COMMUNITY REGIONAL	\$0		\$0	\$1,423	11496	\$16,359,038	\$0		\$0	\$0		\$0
1548399736	Doctor's Behavioral Health Center	\$0		\$0	\$1,452	9213	\$13,377,276	\$0		\$0	\$0		\$0
1467413708	KAWEAH DELTA DIST HOSP	\$1,428		\$0	\$1,428	10389	\$14,835,492	\$1,428		\$0	\$1,428		\$0
1952350944	SUTTER HEALTH SACRAMENTO	\$979	16	\$15,664	\$979	3781	\$3,701,599	\$979		\$0	\$0		\$0
TOTAL		\$979	16	15,664	\$1,324	45,531	\$60,267,557	\$911	-	-	\$1,023	-	-
SOUTHERN C	ALIFORNIA		114			124			134			204	
1003243577	Pacific Grove Hospital	\$0	0	\$0	\$847	473	\$400,631	\$0	0	\$0	\$0	0	\$0
1598722027	AURORA SAN DIEGO, LLC	\$1,168		\$0	\$1,168	648	\$756,845	\$1,168		\$0	\$1,168		\$0
1902863418	AURORA VISTA DEL MAR LLC	\$1,000		\$0	\$1,000	3480	\$3,480,000	\$0		\$0	\$1,000		\$0

File 34 - Inpatient Consolidation Data Number of Days By Provider and Accommodation Code **Provider Number and Provider Name**

For Services Provided in Fiscal Year 2021-22

Rates as of July 2023 Rates for Fiscal Year 2023-24

PROVIDER #	PROVIDER NAME	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$	RATE	DAYS	VOL\$
1902825128	CANYON RIDGE HOSPITAL	\$0		\$0	\$950	6816	\$6,475,200	\$0		\$0	\$0		\$0
1922039205	COLLEGE HOSP COSTA MESA	\$1,005		\$0	\$1,005		\$0	\$1,005	2781	\$2,794,905	\$1,005	13851	\$13,920,255
1346236015	Corona Regional Medical Center	\$0		\$0	\$1,100	4887	\$5,375,700	\$0		\$0	\$0		\$0
1568445419	GROSSMONT HOSP	\$1,200		\$0	\$1,200	2961	\$3,553,200	\$1,200		\$0	\$1,200	2746	\$3,295,200
1891841722	GOOD SAMARITAN HOSPITAL	\$1,675		\$0	\$1,675	3929	\$6,581,075	\$0		\$0	\$0		\$0
1922015833	LOMA LINDA UNIVERSITY	\$0		\$0	\$950	7218	\$6,857,100	\$0		\$0	\$0	503	\$0
1992752315	Mission Hospital	\$1,191		\$0	\$1,097	116	\$127,252	\$1,073		\$0	\$1,070		\$0
1457321317	PALOMAR HEALTH	\$1,200		\$0	\$1,200	180	\$216,000	\$1,200		\$0	\$1,200		\$0
1356410351	PRIME HLTHCARE PARADISE VLY	\$1,200		\$0	\$1,200	7881	\$9,457,200	\$1,200		\$0	\$1,200		\$0
1598809667	REDLANDS COMM HOSP	\$0		\$0	\$950	829	\$787,550	\$0		\$0	\$0		\$0
1376641969	REGENTS OF THE UNIV CA	\$1,200	941	\$1,129,200	\$1,200	987	\$1,184,400	\$1,200	1348	\$1,617,600	\$1,200		\$0
1235290818	SAN BERNARDINO COMMUNITY	\$0		\$0	\$950	11169	\$10,610,550	\$0	3	\$0	\$0		\$0
1154308005	SCRIPPSHEALTH	\$1,200		\$0	\$1,200	4246	\$5,095,200	\$1,200		\$0	\$1,200		\$0
1346384468	SHARP MEMORIAL HOSPITAL	\$1,168		\$0	\$1,168	56	\$65,406	\$1,168		\$0	\$1,168	1039	\$1,213,521
1285619254	ST JOSEPH HOSP	\$1,191		\$0	\$1,097	11	\$12,067	\$1,073	5	\$5,365	\$1,070		\$0
1154500510	UC Irvine Medical Center	\$1,005		\$0	\$1,005	5502	\$5,529,510	\$1,005		\$0	\$1,005		\$0
1457470700	ANAHEIM GLOBAL MEDICAL	\$1,005	9	\$9,045	\$1,005	11078	\$11,133,390	\$1,005	285	\$286,425	\$1,005		\$0
1376623538	KERN COUNTY HOSPITAL authority	\$0		\$0	\$1,880	4829	\$9,078,520	\$1,880		\$0	\$0		\$0
1386947836	LA PALMA INTERCOMMUNITY	\$1,191	394	\$469,254	\$1,097	2089	\$2,291,633	\$1,073	25	\$26,825	\$1,070		\$0
1437627312	Alvarado Psych Unit	\$1,200	893	\$1,071,600	\$1,200		\$0	\$1,200		\$0	\$1,200		\$0
1780986356	HUNTINGTON BEACH HOSPITAL	\$1,050	1579	\$1,657,950	\$1,050	2182	\$2,291,100	\$1,050		\$0	\$1,050		\$0
1477969970	BH-SD OPCO LLC	\$1,168		\$0	\$1,168	550	\$642,384	\$1,168		\$0	\$1,168		\$0
TOTAL		\$1,137	3816	\$4,337,049	\$1,120	82,117	\$92,001,912	\$1,064	4,447	\$4,731,120	\$1,016	18,139	\$18,428,976
SUPERIOR			114			124			134			204	
1134569650	Prime HealthCare	\$1,000		\$0	\$1,000	2261	\$2,261,000	\$0		\$0	\$1,000		\$0 \$0
													\$0

File 34 - Inpatient Consolidation Data Number of Days By Provider and Accommodation Code

Provider Number and Provider Name

For Services Provided in Fiscal Year 2021-22

Rates as of July 2023

Rates for Fiscal Year 2023-24

RATE

\$926

DAYS

28235

VOL \$

\$26,148,988

PROVIDER # PROVIDER NAME

STATEWIDE

TOTAL	\$926	\$0	\$1,000	2,261	\$2,261,000	\$911	\$0	\$1,023	\$0

RATE

\$1,147

DAYS

311,829

VOL \$

\$357,746,523

RATE

DAYS

\$911 16,232

VOL \$

\$14,783,935

RATE

DAYS

\$1,023 25,482 \$ 26,062,447

VOL\$